Fodadinsia At du Mvda : crm@sunrisegr.com

srunsdudilanddan stevitee diuiudndae davils 100%

Order Code

98SRTKE-030-6130K

98SRTKE-030-6330K

98SRTKE-030-7020K

98SRTKE-030-7120K

98SRTKE-295-2030K

98SRTKE-295-3120K

98SRTKE-295-3320K

98SRTKE-295-3650K

98SRTKE-518-0800K

98SRTKE-518-1500K

98SRTKE-518-3310K

98SRTKE-518-3710K

98SRTKE-518-8150K

98SRTKE-525-5760K

98SRTKE-540-0300K

98SRTKE-558-2540K

Name Qty | Unit alné 51A1RA
Hand File Flat Bastard-Cut 10"(255mm) 32| fu 265.00 79.50
Hand File Half-Round Bastard-Cut 10"(255mm) 6|du 365.00 109.50
Hand File Second-Cut 12"(305mm) 15| 4y 365.00 109.50
Hand File Flat Second-Cut 12"(305mm) 11| 4y 365.00 109.50
CIRCULAR BRUSHES 30x12MM. 6|fiu 181.00 54.30
CUP BRUSHES 40x10MM. 39|4u 170.00 51.00
CUP BRUSHES 50x10MM. 36|4u 180.00 54.00
CUP BRUSHES 70x15MM. 18| 4y 380.00 114.00
Screw Cutting Gauge 1|4y 420.00 126.00
Edge & Center Finder Set (5pcs/set) 1|du 1,150.00 345.00
12"/300mm. Stainless Engineer's Ruler 3|4 850.00 255.00
24"/600mm. Stainless Engineer's Ruler 6|4u 1,260.00 378.00
Die Stock 1 1/2" 1|4 840.00 252.00
Club Hammer 4Ib 1| 4iu 1,300.00 390.00
Grease Guns 500cc 3|4 1,650.00 495.00
Stainless Steel Nipper 10| diu 405.00 121.50




Fodadinsia At du Mvda : crm@sunrisegr.com

srunsdudilanddan stevitee diuiudndae davils 100%

Order Code

98SRTKE-558-3660K

98SRTKE-558-7840K

98SRTKE-572-5262K

98SRTKE-572-5266K

98SRTKE-572-5360K

98SRTKE-572-5730K

98SRTKE-572-5740K

98SRTKE-582-6900K

98SRTKE-583-7430K

98SRTKE-601-6060K

98SRTKE-601-6120K

98SRTKE-601-6160K

98SRTKE-601-6200K

98SRTKE-602-6060K

98SRTSE-558-3700K

Name Qty | Unit alné 51A1RA

Box-Joint Waterpump Plier 3|du 1,400.00 420.00
Spring Loaded Nipper 15| 4 850.00 255.00
T7 PRO-TORQ TORX DRIVER 1| 4iu 140.00 42.00
T9 PRO-TORQ TORX DRIVER 2|y 135.00 40.50
10"NO.1PT.SCREWDRIVER 1| du 290.00 87.00
SCREWDRIVER 5.0x150mm. 1| du 225.00 67.50
200xX5MM.SCREWDRIVER 3|du 260.00 78.00
Standard Bi-Hexagon D. 8 mm. 1| 165.00 49.50
~ 3/4" MALE x 1/2" FEMALE IMPACT REDUCER 1| 380.00 114.00
HEX T-HAND3.0MM.x6" 1| du 210.00 63.00
HEX T-HAND6.0MM.x9" 2|du 295.00 88.50
HEX T-HAND8.0MM.x9" 4| g 340.00 102.00
HEX T-HAND10.0MM.x9" 7|4 390.00 117.00
T-HANDLE BALL DRIVER 3.0 mm. 4|du 210.00 63.00
roove Joint Waterpump Plier 12" 1|du 700.00 210.00




srunsdudilanddan stevitee diuiudndae davils 100%

Fodadinsia At du Mvda : crm@sunrisegr.com

Order Code

99AAG0L

228010

228103/21

228103/26

225103/31

228209/10

228209/12

228209/3

228209/4

228209/6

228209/8

20TS-7L-50

16SWA-30-B

10KY22210A

Name Qty | Unit alné 51A1RA
#udas 8210 #60 aunm 100x25.4x19 17|46 400.00 120.00
4.8x40x20 Power Feed Contact Upper & Lower 7|4 1,680.00 504.00
ire Guide Wirecut Machine 21u16 0.21 2|4 6,000.00 1,800.00
ire Guide Wirecut Machine 1u16 0.26 2|4 6,000.00 1,800.00
Wire Guide Wirecut Machine 211 0.31 2|dfu 6,000.00 1,800.00
ater Nozzle Wirecut Machine auia 10.0 mm. 10|du 250.00 75.00
Water Nozzle Wirecut Machine au1a 12.0 mm. 10|du 250.00 75.00
Water Nozzle Wirecut Machine au1a 3.0 mm. 104 250.00 75.00
Water Nozzle Wirecut Machine auna 4.0 mm. 104 250.00 75.00
Water Nozzle Wirecut Machine a1ua 6.0 mm. 10| diu 250.00 75.00
Water Nozzle Wirecut Machine a1ua 8.0 mm. 10| du 250.00 75.00
Micrometer Scope with Light 50X (Inverted Type) 2|y 17,200.00 5,160.00
heel Brush With Shank D75 (3") Brass Coated 2774 160.00 48.00
Torque Spanner 1/4" 5-25N/M 3|du 6,300.00 1,890.00




srunsdudilanddan stevitee diuiudndae davils 100%
fodiafinsia Aat fin M98LA : crm@sunrisegr.com

Order Code i ‘ Name Qty | Unit alné 51A1RA
10KY23314A Torque Spanner 3/8" 19-110N/M 2|fu 6,800.00 2,040.00
10KY24318A Torque Spanner 1/2" 42-210N/M 2|du 7,200.00 2,160.00
07VHU-56 1|ya 150,000.00 45,000.00
07MTP4100R 1| du 6,000.00 1,800.00
07DIN2080-M16 faciadiu NT40-M16 5|4 500.00 150.00
07BT40-THL125-7 . Long Quick Change Tapping Chuck BT40 M3-M12 1| du 13,400.00 4,020.00
07BT40-THL240-20 Long Quick Change Tapping Chuck BT40 M8-M22 1|du 13,900.00 4,170.00
07THLK115-3/20 GhuAuEl A 20 uu. M3-12 1|gu 9,900.00 2,970.00
07THLK340-BT50 Quick Change Tapping Chuck Tap Collet Size 3 BT50 1|du 29,000.00 8,700.00
06ILBE-414 WWufiaaudaasludusa 4 Wu 14 fa 3|4 3,100.00 930.00
06ILBE-416 ufiaaudaasludusa 4 Wu 16 9a 4|fy 3,300.00 990.00
06ILBE-418 WBuiaaudaaslusdusia 4 Wu 18 fa 2| gu 3,600.00 1,080.00
06ILBE-419 WBufiaaudaasludusia 4 Wu 19 da 2| gu 3,900.00 1,170.00
06ILBE-424 WBufiaaudaaslusdusia 4 Wu 24 9a 2| g 4,200.00 1,260.00
06ILBE-432 Wufiaeudaaslusdusa 4 Wu 32 fa 1|gu 7,000.00 2,100.00




srunsdudilanddan stevitee diuiudndae davils 100%

Fodadinsia At du Mvda : crm@sunrisegr.com

Order Code

06ILBE216

06ILBE220

06ILBE220-TL

06ILBE225

06ILBE225-TL

06ILBE232-TL

06ILBEB216

06ILBEB220

06ILBEB225

06SRT-6F-100-1/2

06SRT-6F-90-1/2

06E88201000

06E88202000

06E88204000

06E88205000

06ATB20 16-120L

Name Qty | Unit alné 51A1RA

dufiaaudaasludusa 21hn laaila 16x28x95 4|fy 2,600.00 780.00
wuflaaudnaisludusa 21hn laaila 20x30x115 17| 4 2,800.00 840.00
wufiaaudaasludusia 21hn laada TIALN 20x20x30x115 174 5,100.00 1,530.00
iufiaaudaasludusia 21hn laalla 25x35x125 9|fu 3,300.00 990.00
wuflaaudnaislususa 210 laaia TIALN 25x25x35x125 6|fiu 5,900.00 1,770.00
vufiaaudnaislususa 21hn aaiea TIALN 32x32x45x15 3|4 7,500.00 2,250.00
viufiaaudnaislususia 210 Ball Nose 16x28x95 10|du 4,500.00 1,350.00
dufiarudnasludusiar 21hn Ball Nose 20x30x115 5|4 4,900.00 1,470.00
ufiarudnasludusiar 21hn Ball Nose 25x35x125 194 5,900.00 1,770.00
TTC HSS 6F Countersink 100° 1/2” 9|du 1,450.00 435.00

TC HSS 6F Countersink 90° 1/2” 19|du 1,450.00 435.00
SCREW EXTRACTOR E882 M1 17| 4 420.00 126.00
SCREW EXTRACTOR E882 M2 17| 4y 420.00 126.00
SCREW EXTRACTOR E882 M4 2|du 660.00 198.00
SCREW EXTRACTOR E882 M5 2| 780.00 234.00
FIXED CUTTER BORING BAR 16-120L /i 1u20 1|4y 3,800.00 1,140.00




srunsdudilanddan stevitee diuiudndae davils 100%
fodiafinsia Aat fin M98LA : crm@sunrisegr.com

Order Code Name Qty | Unit alné 51A1RA
06ATB25 20-130L FIXED CUTTER BORING BAR 16-130L fi 1u25 1| u 4,100.00 1,230.00
04Al140-60 ) Thvsesuimdnuaa (Grade 1) 400x600mm (1nan +3,500 1n) 1| g 17,000.00 12,000.00
04A160-80 ‘iﬁ:ﬁzﬁnmﬁnuda (Grade 1) 600x800mm (121 +4,000 u) 1|4 35,000.00 25,000.00
04YT-600 wiuasagzauANunan 216 0-300uu. 1|y 47,000.00 14,100.00
04SRT No.267M : wailasinagu 267M aua 1-29 mm. 3|du 2,500.00 750.00
04EXT0400 fAusad nsu'luiag 3|gu 6,900.00 2,070.00
04EGX0001 finusiad niulutasinglu 4u 20-50 uu. 813 150 . 2|du 6,300.00 1,890.00
04EGX0200 y . _ fusiadmsuinTasiaglu fu 6-10 uu. 813 63 Uy, 2|4 4,500.00 1,350.00
04EGX0400 fAusaduiuluiasinglu su 10-12.5 uw. a1 76 wu. 2|4 4,500.00 1,350.00
04EGX0500 fnusiadniuluiesinglu su 12.20-20 uu. #7173 100 2|fu 4,500.00 1,350.00
041S16291-001 1 . Test Indicator Holder (Size 8mm./Size 4mm.) 3|4 700.00 210.00
041S16293-001 Test Indicator Holder 9x9mm.x100mm.(4mm.&8mm.) 19| fu 900.00 270.00
041S12322-010 __-:Dial Bore Gage 6-10mm.x0.01mm. 2|du 4,800.00 1,440.00
041S12322-018 Dial Bore Gage 10-18mm.x0.01mm.. 3|du 4,000.00 1,200.00
041812322-050 Dial Bore Gage 35-50mm.x0.01mm. 1|gu 4,000.00 1,200.00
041S13227-016 Three Points Inside Micrometer 12-16mm.x0.005mm. 1|gu 10,000.00 3,000.00




srunsdudilanddan stevitee diuiudndae davils 100%

Fodadinsia At du Mvda : crm@sunrisegr.com

Order Code _ i Name Qty | Unit alné 51A1RA
041813227-020 ! Three Points Inside Micrometer 16-20mm.x0.005mm. 1|gu 10,000.00 3,000.00
02WB . davalefiuuuineda 7|4 11,000.00 3,300.00
02SRT-VISE152B hamauiadn dgiunyu 154 3,500.00 1,050.00
02SCT-830-CC116 Hand Feeding Work Table 160x470mm. 1|4u 7,000.00 2,100.00
02FN-M16 Flange Nut M16x20 20|4u 290.00 87.00
I
02HG-200B - 2l Precision Rapid Vice HG-200B 1|du 37,500.00 11,250.00
PA60-25x25x8 Audusglu Juuwy #60 25x25x8 100 fiu 28.00 9.00
32A60KL5V 16x20x8 Autiasglu & #60 16x20x8 98| fu 21.00 7.00
C100M5V1A 16x20x8 Auliusglu &6 #100 16x20x8 101 |4 21.00 7.00
WAB0J5V1A 16x20x8 Autdasglu &u10 #60 16x20x8 84| 4 21.00 7.00
C100M5V1A 25x20x8 Autdasglu 61 #100 25x20x8 81|du 23.00 7.00
WAGB0J5V 1A 35x30x8 Auidasglu &1 #60 35x30x8 84| i 40.00 12.00
32A60KL5V1A 25x25x8 Auldusglu &m0 #60 25x25x8 100 fiu 28.00 9.00




srunsdudilanddan stevitee diuiudndae davils 100%

Fodadinsia At du Mvda : crm@sunrisegr.com

Order Code ‘ Name

WABO0J5V1A 25x25x8

32A60K5V1A 35x30x8

32A60 25x25x8

32A60 25x25x8

8AB0JV5A 35x30x8

8AB0JV5A 40x30x8

1A 205x25x31.75

8AG60KVJA 205x19x31.75

T1A39C100KVK 205x20x50.8

8AB0KV 255x19x76.20

AABOK5VHA10 6x3/16x1-1/4

A150RORT7A 255x150x107.9

C60J7V20A 355x50x127.00

WAB46K8V 14x1x5

| Qty | Unit salnd PR

Autdesglu &u1) #60 25x25x8 83| du 28.00 9.00
AuFasglu & #60 35x30x8 94/ fiu 40.00 12.00
iuldasslu &1 #60 25x25x8 89| fiu 28.00 9.00
Auidesglu & #60 25x25x8 100 fiu 28.00 9.00
Auliesslu & #80 35x30x8 94| fu 40.00 12.00
Auliasglu &0 #80 40x30x8 4|y 48.00 15.00
[Auides §u10 #60 205x25x31.75 2|4 350.00 105.00
utdns S #60 205x19x31.75 2| fiu 300.00 90.00
Autdas Audien #100 205x20x50.8 5|4y 350.00 105.00
Aulias §nn #60 255x19x76.20 6|fu 550.00 165.00
Auldas &0 #80 150x5x31.75 3|du 150.00 45.00
Aullas & #150 255x150x107.9 1|gu 5,000.00 1,500.00
Auides &6 #60 355x50x127 1|y 1,800.00 540.00
Audns & #46 355x25x127 1| du 2,000.00 600.00




srunsdudilanddan stevitee diuiudndae davils 100%

fdadasa aa fn nvdwwa : crm@sunrisegr.com

Order Code ‘ Name

WA46J5VHA1A 355x28x127

PAB0JV1A 180x10x31.75

WAB0JV 255x19x76.20

Qty | Unit sedné 1A18A
Auies §117 #46 355x28x127 fu 1,400.00 420.00
iuides Sy #80 180x10x31.75 i 200.00 60.00
iusas fu1d #60 255x19x76.2 fu 550.00 165.00




	Sheet2

